
Eenvoudige opgaven 
 

(1) 1. … Ph3+ 2. gxh3 Pf3+ 0-1 
(2) 1. … Kb6 2. Kd6 Ka5 3. Kxc5 ½-½  
(3) 1. Dg3 gxf1D+ 2. Kxf1 1-0 
(4) 1. b4 Dc6 2. Lb5 Dxb5 3. Pc7+ 1-0 
(5) 1. Te8 Txe8 2. Pxe8 Kf8 3. Pd6 1-0 

 
Gemiddelde opgaven 

(6) 1. Pb5+ cxb5 2.Pb7# 1-0 
(7) 1. … Tc8 2. Dxa6 Tc3# 0-1 
(8) 1. … Lf1 2. Pxf1 Kc4 3. Pd2+ Kd3 0-1 
(9) 1. Rf8+ Pxf8 2. e7 1-0 
(10) 1. … Dxh2+ 2. Kxh2 Th4+ 3. Kg1 Pf3 0-1 

 
Gevorderde opgaven 

(11) 1. Te7 g5 2. e4+ Kg6 3. f5+ Kh6 4. hxg5+ Kxg5 5. Tg1+ Kh4 6. Th1+ Kg5  
7. Tg7 Kh6 8. Tg6+ Kh7 9. Txh5# 1-0 

(12) 1. Dc5 1-0 
(13) 1. Dxg8+ Kxg8 2. Th8+ Kxh8 3. Lf7# 1-0 
(14) 1. a7 Lxf1 2. Dd4 Da6 3. Dh8+ 1-0 
(15) 1. Lxe5 fxe5 2. Dd5+ 1-0 

 
Moeilijke opgaven 

(16) 1. gxf6 Txd1+ 2. Pxd1 Dxd2 3. fxg7 Le6 4. g8D+ Kd7 5. Dxc8+ Kxc8 6. Lxd2 1-0 
(17) 1...Pxf2 2.Kxf2 Pg4+ 3.Kg1 Pxe3 4.Dd2 Pxg2 5.Kxg2 d4 6.Pxd4 Lb7+ 7.Kf1 

[7.Kf2 Dd7 8. Tc1 Dh3 9.Pf3 Lh6 10.Dd3 Le3+ 11.Dxe3 Txe3 12.Kxe3 Te8+ 
13.Kf2 Df5; 7. Kg1 Lxd4+ 8.Dxd4 Te1+ 9.Kf2 Dxd4+ 10.Txd4  Txa1]  ​7...Dd7 
[7...Df6+? 8.Kg1 Dxd4+ 9.Dxd4 Te1+  10.Txe1 Lxd4+ 11.Kf1 Lxc3 12.Td1] ​8.Df2 
Dh3+ 9.Kg1 Te1+ 10.Txe1 Lxd4​ 0-1 

(18) 1. Pxd5 Dxb1+ 2.Kf2 Dxh1 3.Lxe7 d6​ [3...Pc6 4.Dg5 Kf7 5.Df4+ Ke8 6.Dd6; 
3...Ld4+ 4.Pxd4 cxd4 5.Dg5 d6 6.Df6] ​4.Lxd6 Pc6 ​[4...Ld4+ 5.Pxd4 cxd4 6.De2+ 
Kd7 7.De7+ Kc6 8.Pb4+] ​5.Lb5 Ld7 ​[ 5...Kd7 6.Lxc5 Lh6 (6...Lf8 7.Pe5+ Ke6 
8.Pc7+ Kf5 9.Ld3+ Kxe5 10.De3+ (10.Dc3+ Kf4 11.Df6+ Lf5 12.Pe6+ Kg4 
13.Dg5#) 10...Kf6 11.Pe8+  Kf7  12.Lc4+) 7.Pf6+ Ke6 8.Dd6+  Kf7  9.Lc4+  Kg7 
10.Dc7+ Kxf6 11.Df7#] ​6.Lxc6 bxc6 7.De2+ Kf7 8.Pg5+ Kg8 9.Pe7+ Kf8 
10.Pxg6+ ​[10.Pxc6+] ​10...Kg8 11.Dc4+ Le6  12.Dxe6# ​1-0 

(19) 1.Dg5 Te5 ​[ 1...Txe4 2.Lxg6+ fxg6 3.h5 Tc4+ 4.Pc3 Txc3+ 5.bxc3] ​2.Pe7 Dg8 
[2...Txg5 3.hxg5 Dxe7 4.fxe7 Le6 5.Ld1+ ( 5.Le2+ +- ) 5...Kg7 6.La4; 2...Df8 
3.Lxg6+ fxg6 4.h5] ​3.Ld1 Kh8 4.Dh6+ Dh7 5.Df8+ ​1-0 

(20) 1...a3 2.Dxe4+ g6 3.Dc4 a2 ​[ 3...axb2 4.g5 Kg8 5.Dc8+ Kh7 6.Dc4] ​4.gxh5 
[4.Dxf7+ Kh6 5.Dxa2 ( 5.Df8+ Kg5 6.Dc5+ Kh4) 5...Dxe2+ 6.Kg1 Df2+ 7.Kh1 e2; 
4.g5 Dd6+ 5.Kg2 De6] ​4...Dd6+ 5.Kg2 Dxf6 6.Dxa2 Df2+ 7.Kh1 De1+ 8.Kg2 
Dxe2+ 9.Kg3 Df2+ 10.Kg4 e2 ​[ 10...Kh6-+] 0-1 


